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rate of climb
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In general:

rate of climb R/C = V,_ .siny

The usual units are speed in knots and R/C in feét per minute, for which

rate of climb R/C = 101.268 x V,__siny [101.268 = 1.6878 x 60]
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Where R is tl}e turn radil.ls in feet éOD 0@ % 0/ /%

Virue 18 the true airspeed in feet per second
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g %s the local acceleration of gravity

¢ is the bank angle

for true airspeed in knots and radius in feet:
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is the rate of turn in radians per second
at 3 L 3> Jaky
g is the local acceleration of gravity
¢ is the bank angle
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r true airspeed in knots and rate of turn in degrees per second
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